DUNCAN EXPORT MODEL EA 820-8

ELEBYEBE:

KM 324 Powet Relay {240/220V)
KE 314  #6-32 X 1/2° Machine Screw

Q
bt ﬁ \ 4

> / B SO
,%'\g AT @ )
PART \\l @\\ L~
mn;gé D&w::?qmb Timer (240/220V) @\: ’
KM 325 4300 Fined Inierval Timer (240/220V)
\ A

KM 385 ¢1 x93 Fiberglass Sleeving
KM 342 820, 1020/29 Cord Siraln Relle!
KE 307 #8-32 x 1-1/4" Machine Screw

. KE 098 2 Pole Terminal Sirip

. KC 300 Standard Buss Bar Assembly

. KC 319 U-Terminal Assembly

. KE 318 #10-22 x 1/2° Tampeiprool Screw

. KE 334 ¢10-22 Hex Nul w/Washe!

. KM 200 Lid Salety Swilch

. KM 383 Ud Switch Mounting Kit

. KE 000 Insulator

. KM 323 820-7/8, 1020 Power Supply Cord

. KM 300 infintte Switch w/Pal Nut (240/220V)

. KM 382 Capachor Assembly #2

. XC 187 €' (15 cm) Connecling Wire, 16 Gauge
. KC 193 10,6,6 Wie Combo, 16 Gauge

. KC 190 6, 18 Wire Combo, 16 Gauge

. KC 131 14° (38 cm) Connecting Wire, 16 Gauge

. KC 136 §° (23 ¢m) Connecling Wire, 12 Gauge

CONTROL PANEL PARTS

KE 320 #8-22 Hex Nut w/Washer

1\

égé@é@@

(&)
—

KC 194 Pliot Light Assembly [EA 820-8/1020-6)

KM 008 Timer Molor, 50 HZ

XC 178 14° (25 cm) Connecling Wite, 12 Gauge
KC 120 @ (22 cm) Ground Wire

KC 189 10" (25 cm} Connecling Wirs, 16 Gauge
KC 177 6" (15 cm) Connecling Wite, 12 Gauge
KC 138 14° (38 cm) Connecling Wire, 12 Gauge
KE 005 T-Terminal Adapier

KE 101 Terminal Biock Assembly

KE 0681 Dislecitic insulation for KE 101

KC 173 6, 4 Wite Combo, 16 Gauge

KM 361 3 Position Swilch

@@@@ég

37

N el 3 ’ [ -
L 3 3 — 0 ; nkéj o
- [V
BN Yo gl = : +
yd in Z P’Q d &8 ot—1 — g;s N
— 32| 04— 8 o=
T i3 g '_-_’l ) o
[ [
S =
[__},'L__&_L_ :;:_;\—————————:l frt
nun - CC) ,.’]., L \./\J\__——-dq _i.
T L P F = S
S - Loy g : — J:?.ﬁ% (essszssd ]
rodbea YE‘ rebhben (“ij rL — M ] T ]
+| 251 M2 5] o Al
N 1l Mee==ses '
\——] Eé- ﬂJ- 22
| i AR | w5
l l &y 1. l - downk
. [ o Ak A ' -—
i =y 38 § — : a3
P oiTg D5y org bk ——... ~ge”
; P < 2 ; < a‘u 6.’ T z o~
S g (5::1 [ {:—3 ,:: Ekf.: U




